Jubogubogyn

OO0 00 (b0o0ooooooooooono)

OO0 170120 20: Ver. 1



1-1
0000000000000000000000000~,000000000000
0000 Py(n)00O0:

~Cy N! 1
Pr(n) = N (N —n)ln! 2N (11)

1-2
N>10000000000000 log(N!)~NlogN-NOOO

log(Py(n)) = —Nlog2+log N!—log ((N —n)!) — logn!
~ —Nlog2+ NlogN — N — (N —n)log(N —n)+ (N —n) —nlogn+mn
= —Nlog2+ NlogN — (N —n)log(N —n) —nlogn (1.2)
1
noooooooooooo UM _hnppp
n
dlog Py (n) N —n
SRS INY T — log(N —n) — (N — “logn—1=1
dn o8 n) = n)N—n oen og( n )
goodooooonnen O N-—n =1000 n*:];[
n*

1-3
0000 Py(n)DOOOO0OOOO0OOO0D00OO0O00000000C00O00O0OO logPy(n)
gbooodao

1 d?
log Py(n) = logPy(n*)+ N dn? log Py(n) (n —n*)>+O((n —n*)*)
i i, (N-nm\ -1 1
L gatoe ot = gotoe (S0) = 5= -

_2(z\f—lj\f/erNl/2>(”_”*)2

2
= —N(n — N/2)? + const.

OOobDO0bOocooonog

fmm):c@@<_;<n—§>7 (13)

0000000000000000
1-4
(a) 000000 (z,y) 00000

x rcos + 9z Oz
= . ,  dxdy = g; gz
Y rsinf + 3 > 5

2
=
o
=
=z
=

drdf = rdrdf

2



00000000000000r=[0:00],0=1[0:27]

oo 2w o0 1
/ / rdrdf exp (—ar2> = 27?/ rdre=" — 9x <_6_Oér2> _T
o Jo 0 2c0 0 «
oooo|r=,/z
(b)
d d o0 2 2
I L / —a(@=B)% g — _ / _ 3)2e—a—)
ia 7o )¢ dx (x — B)e dx

oboobobgobooboboboobooboobobobobooobobobod

goooooon
1
—2771/204 /d:m e e=h 62\/

afuln / drae @0 — (1 _ g?) \F
2a «Q

DDDDDDDC/PNndnleDDDDDDDDDDDDDDDDDDDDDD
000000000C;, /3y =1000C=2/x 0000

Py(n) = 2\/NT7T exp (—;(n - N/2)2)

gogd
l-ejggogg
000000 () — () 000000
N
(n) = /dnnPN(n)ZE

(n2) — (n)? = / dnn®Py(n) —

|
I
_I_

|

N* N N? N2 N
4 4

gooo

1-7000000000
OOooo0obooboooboboboooooboobobooboooooo NODOO

gboodgbbuogbbooobboobbuooboobbuooobooobboann

NOOODODOoOOooOooooooooboboboooooooobooo

oo

000000000 (1.)OooooooooooooNODOODODOOoDODOoOooOOO
0000000000000 000000000D000000000000000 Q(2)

O
1

1
ZZ"PN Zz |n|2N:2N(1+2)



gboboboodgooboooobbooogn

d N
= — =1)=_—
1 sz(Z ) 2

(n?) = ZnQPN(n) = Z (C;; + jz) 2" Py (n) ) = (;; + C;i) Qz=1) = — + 5

obooNObooboooboobobbooboobooo

2-1
Dooogobobovobooooboobbooobooobboobbooooobo

0000000000000 0/VOOOOODOOnOOOOOOOOOODDOO

N-nOOO0OOD0OOO0OODOODODOODODODODyC, 000000000000

gooogg N
v\" v -n
P = n | — 1_7
w(n) NC’(V) ( v)
oggo
2-20000000Q(z)=Y,2"Py(n)0000000
o V\" v\ N v v \N

gbooboodndd

() = ToPx(m) =¥ o Peln)

n

d v

n=Y nPy(n)= %Q(z =1)= VN

00O0o00oo0o
— d? d vN v\ 2 v vN

27 = -5+ — :1—(>:()NN—1 N—<)
o (mf+w>Q@ )\ y) NN =Dty vV

- (@) () =n(i-7)

2-3 N, VOOOOOOOOOoOOoOO1/N,y/Voooooooooooooooooo
gbbobuoooobbbooobboboooobood

o = sy () (- 3)

| 0000000 O0000OogN!=NlogN —N
[N! f:NNe*N, (N —n)! ~ (N—n)N*"e*(N*")}

e G 0 F G )

4

«—




v
e—nin n v an_e—nin E E
= <1+N_V) " exp<<N ””0g( TN v))
N
NEEME TR . e
~ e—ﬁ”exp(n—ﬁ) I (2.2)

n!

gbbboooobbbduooobbod;

ZPN Zn| e =1

n:

00000000000 Q(x)0ooooo0o0oooooooooo

e s
o~ exp{—v(l_z)} e (1=2) 26_"—,2 _ZPN

000000000000 (22) 000000
2-4n,n0000000000Py(n)0O

log Py(n) = nlogn —m—logn! ~nlogn —n—nlogn+n

dlog P .
nooooowoooooon A0 ot Zlegn =000, nt =m00D

n
gbooboooobbboooboboboooon

log Py(n) = ;(—1>

— *2 .« e
- (n—n")"+

n=nx

Py (n) ~ exp <_(”;n”)2>

oooooboobobobobob2z220b00boboooNMVOODODOODRODOO
gbboboobuodgbobboooobbbuooobobboooon

gbobbuoobobbbooobbobuoooobbbuoooobbodao
OO0 ROJJOOODOOO VOO

V:/---/ drydxs - - - dr,, 3.1
d 2 tai++ai<R? T v ( )

gobd



STEP1:(00000) d0O0000 (r,6y,--,042,¢)0

ry = rcosb
Ty = 7rsinf cosby

Tg_o = rsinfy---sinfy_scosly_o

Tg_1 = rsinfy---sinfy_3sinf,; o cos ¢
xg = rsinfy---sinfy 3sinf,; osin ¢

00000000000 D (R)O0D0O00000000 (r,6;,---049,¢)000

Dy(R) = {xeR! | |z’ =a]+a5+ - +a] <R}
= {raela"'79d727¢‘0§7"SRaogela"'79d72 §7770§¢§27T}

gboodgg

STEP2. (00000000 0O0O0O) 00000000 ODOO0OO0O0OODOOOOooOO
00000000 (y1,92,-,y) 000000000000

v = \/x%+x§+---+xfl
Yi = T (i=2,--+,d)
00 (xy,29,--+,2) 0000 (y1,92,--,y) 000000001 = y(i = 2,d)

O000a2 =9 — (3+--+23)=vi—(y3+---+y3)00000000O0O0O
0000000000000 D00000

0 1
0 1
Oy, 9, -+, Tq) _ :(_)1+dﬂ:(_ 1+d 1
O(Y1, Y2, , Ya) 01 Ty sinf - - -sinfy_ssin ¢
Ozg
oy

gbbbuooobobbbdoodgbobbooodobbboooobbbooaob

a(l'l,l'g,"',l’d) _ 8(371,1’2,"',[13(1) (3(917927"‘7%)
3(7": 917 to 70d—2a¢) a<y17y27 U 7yd) 8(T’ 917 e '70d—27¢)
gooono
1 0 U 0
oY1, Y2, Ya) _ | * —rsinf; 0
8(7", 917"'70d—27¢) *
* —rsinf; ---sin ¢

= (=) sin?t 9, sin? 2 0, - - - sin ¢



gbooboogooood

8(1‘171:27”'71‘(1) _ d—1
8(7", 617 ) 0d727 ¢)

sin? 26, sin? 20y - - - sin 0o (3.2)

STEP3:(00) OD0O0O0OOOOOOO0ODOOO

Vy(R) = / drdf, - - - Og_oddr® " sin=2 0, sin®=> 6y - - - sin By

d
= 271'}; (/ d(gl Sind72 91) (/ deg Sindi3 92) cee (/ d@d,g sin 9d2>

Rd
= 2 I(d —2,0)I(d - 3,0) - I(1,0) (3.3)

000000 I(m,n) O
I(m,n) = / sin™ x cos" xdx
0

000000000 mep000000000000 I(m,n)00000O0O0OO

STEP4:(00000) 0000 I(m,n)0d cosxa 000000000000 DODODOOO
gboobooooon

m — 1
I = I(m —2 A
m,m) = L1~ 2,m) (3.4)
gooooog
- — N
](m,O):(m )](O,O)ZMW for even m
m!! m!!
- — N
I(m,0) = MI(I,O) = M? for odd m
m!! m!!

Oooobdddboobobono

L RUd=3)1(d—4) w2 a2 RY 4 4 1 RO
ValR) =27 @ g2 VT2 d—2)1 al
(3.5)

000000 ! =n(n—2)(n—4)---200000000000r 0000000Vy(R) =

R d
&JfgDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
2 Rd—l d
00 ROODOO0DO0S(R)=d% 0000
(5+1)

gboobooooooboooobboooon

'0000d=3000V =222 =4 npopooa



gboboboooobbboooobobuoooobobbuoooobobogad

4-1
o Wi(Ew — EF)

p; =
! Wtot(Etot)
4-2log(py) 000 0DOODODODOOOOOOOOODO

C = dg’? log Wir(Eior — EY) = — dgn log Wi (Epy)
E$=0 Err=Etot
4-4 o
pr = e (- k]%)
2o OXP (_ kBIT)
4-5

d
(E) = —%logZ

O0000Z04400000000p40 1/kgT0000O

guobogoboboobugobuooboobbooboboobobooboboon
gobbobbbbbddddddddddoooooooooobLboboobobon
godb
5-1

gobdoobog pObo0bboobboobbooobobuoobboobobon
W(E)DDOOO

Si+2(F) = kplogW(E)

O000000000 k000000 DO0O0ODO0O0OO0O0ODODbOOO0DO 200000
1020000000000000W((EF)DODDODODODODODODODODOOO

W(E) = Z Wi (E)Wa(Ez)

FEi1+Es=F

000000000200000000000 FOOODOOOOOOD 102000000
oboboobooobooboobooboboobooog

Sl+2(E) = kB log ( Z Wl(El)WQ(Eg)) (51)

FEi1+Eqy=F

gooo

D00D00000000010000000 (00000)02000000000 wW(10)DDoOoOOO
100000200000000000000000000000000WL(1)0 WL(9)OOOOOOO
0000 wlo)ooooooooooooo(2,8),3,77000000000000

8



5-2
gboodbuodgbogbbooboboobuoobooboobboobuooboob

gdddoooououooobbbobbbbbioooooooouooooooooon

00 E0000000000D0 10 F0000 20 E,000000 P(Ey,E,)DOO

Wi(E)Wa(Ey)  Wi(E)W(E — Ey)

e 7 (7

Dboupp 000b0o0boob ppogbbobbobboobgobod grod
oooobon

d
log P(El, EQ) ~ IOg Wl(EI)WQ(E;) + E IOg Wl(El)WQ(EQ) (El — Eik)
1 E1=E7
1 d? *\ 2 *\3
log Wl(E1>W2<E2) (El — El) + O((El — El) )
"2 am? o

0000000000 (000)0oooO0o0o0oo0ooooo (pyO0000)00oO
0000000000000 0000000000O0000000000 P(Ey,E,)OO

1
P(Ey, Ey) = P(ET, E3)exp (S A(Ey - ED?)

gbooboogoon

2

d
A= dE2 log Wi (E1)Wa(Es)

d? d?
1 E 1 E.
_— (dE2 og Wi(Er) + dE2 og Wa( 2))

E\=E}

00000000 P(Ey)0D0ODODOOODO Fy=E00D0D0O0DODOODOOODODOO
O0000000A0O000000000000000000000000 W(E)OOO
goobodbobobbuooobbooobboobbooobobooobbobboono
000000 (00000000000 0D)00000000000000000 NO
ooboooo0ooOoooOoo0boo0 pr0 Ej00D000D000000O00DO00DO00D0
0000 P(Ey,E,) 0000000000000 000O0OOO0000000oooooo
gboooboooooood

Sl+2 = k?B 10g W1 (E;)WQ(E;) = /{ZB 10g WI(ET) + l{?B IOg WQ(E;) = Sl + Sg (52)

gboboboooobobooooboban
5-3
000000000000 1020000000000000000 FOEYCOOO
obobooboobod
1 9] 1 0

s _ Y 0 s _ Y 0
T1 8E181(E1)7 T2 8E252<E2>7



obooboooobobooobo ny>n,00000b00b00o0bOobobooOo1000on
gbbobug200bb0buoobbbboooobbbuoooobbbooobbn

9 9 11
dS;.o(E° + B9 = -2 8. (EOdE swﬂmz{—WE
142(E7 + Ey) o, 1(EY) 1+8E2 »(EY)dEs T 1
00001/T,—1/T, <0000 dE, <0000°00000000000000000
000000
0000000000000000 (E/0E)000000 (E=E+E)00000
000000000000 000000000000000000000000000

DDDDDDDDDDDDDDDDDDDDDDDDD(E?,ES)DDDDDDDDDD
W (ET)Wy(E3) > Wl(E?)WQ(ES)

godoood
Si42(E) > S1(EY) + S2(EY)

0000000000000000000000000000000040

gboobuoooobbbuooobbbooooobod
9-1
ooooboooooooobg F=E-TSO000OO

1 1
S = (E—F):<—alogZ—i—kBTlogZ):kBTaaﬁlogZ—l—kBlogZ

T T\ 98
) )
= o7 (kaTlog 2) (: _8TF> (9:1)

obooobobobobon
9-2
oboboobooboobooboobo

VN (27TmAkBT>3N/2 7 VN (27rmBk:BT>3N/2
207 ARBE 7 B = 22TPBBE

Za=\ T2 =M\ e

OO0O0D0O0000b000b00b0obDbOobDiO00 Freor OO

N 3 2 kgT 3 2 kpT
Pt = ) = Nt (s~ o (725) - o (700

‘D0D0D0DD0D00000O0O0OOaQ

{0000000000000000000000D0D0DOOD0000000000000000000
bobooboboooobobooooboboooooboooooobooooooboooooboaon
gobooboobooogoboboboooobooooobobooooboboboooobooooon

10



gooo
9-3
gboboboogobbboooobbbooooboobooooboon

(2V)2N (%kaT)?’N/Q <2mekBT>3N/2

Z = (9.2)

NIN! h? h?

gboooboboboooooon
N 3 27rmAkBT 3 27rmBkBT
Fafter = —kBT 10g(Z) = Nk?BT (2 lOg W — 5 log <h2> — 5 log <h2

gooo
9-4
DDDDP:—%FDDDDDDDDDDD

0 2NEkgT 0 2NEkgT
Peore:_iFeorezi Pa er:_iFa er —
bef oV bef Vv ft oV ft Vv

gboogbobood

9-5
goouooooouod
AS = _;;(Fafter—Fbefore):NkB(210g2V—210gV):2Nk;Blog2 (9.3)

gboboboooobobbuoooobbodao
gbboodbbuoooboodgbbdabbuodabbooobbuoabboooboo
gbooboodbbogobbooobboobbuooobooboboobbaobboabn
gbbbooobobbboodobbboooobbbouooobbn
9-6
00000000000000000 (92)00ooo

1 1
H
NIN!  (2N)!

oboboboobooboobgooboobobobobooboobooboon
9-7
o-5.0buuobobooboboobobobboobuobboboboobobon
gboboobbuogobboobuogbbogbooobooobbooobooobn
goobobobobooobbbboboobotbdddddoooodooooooooobobobooboo
000000000 00000000000000000000000O0000O00
gboboooboooubbooobboobbooobbuooobboobbooobo
gbobobooggoboesbbugoubobouoooboboagn

‘00000000000000000O0D0000O0DOO0

11



0000000000 N, =pNOODODODOOOOOOO W(p) OO

N!
N+I(N — N,

W(p) =~ Cn, =

gbooboogobobboooobbobuoooobooo

N
N+I(N =N,

S) _ log W(p)) = log (

i >:—NmmMH41—mmg1—m1

0000000000000000000
0000000 0000O0O0O0OD0OOOO O
000 07 | 002
00 S(p)000000p00p=050000
00000000Nlg200000000
0000000000000000000 o
0000000000000000000
0000D000000000000000
00000000000 (p=1)00000 | | | |
(p=0)00000000000000000 o 0z o4 06 08 1
0000000000

godgoououooooobbbbbb
gbobboggbobobuoooboobuooon
godgoououoobbobobbbibob

o000 T7T0O0D0O0O0OOO0ABCOODO
Oo0o0oOooooooooo(mo)oo
godddgodooooououoooobobbn
gbobobooogon
gboboboooobbbugobobobboogoboobooon

ZA+B+C - ZAZBZC (7].)

gbbboodgbobboooobbobdan

1 log Z4 +1log Zg +log Z.
FA+B+C:—6108§ZA+B+C:— 524 gﬁB & (7.2)

12



